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Example 12.19
Haydn, Piano Sonata in E-flat, H. 49
first movement, 25–64

1

Analyzing Classical Form



37G��� 5! 5 5E 5 55 55 5 5 5! 5 5 5 55 555 5 55 5! 5 5 555 55 5E 55 5! 5 : 5! 5 5� 5 5 : 55 5! !5�5 5 55 5
3

���� 5 4 4 G 55 4 4 0 � BB 55

42G��� 5 �= 5� 5 5 5 : 5 5! 5 5 5� =G=
5 5! 55 5 5 5 : 5 5! 5 5

����
55 5 555 5 555 5 5 5! 5 5 555 5 555 5 5 55 5 555 5 555 5 5 5! 5 5 555 5 555 5 5

46G��� 5� =� = 5 5 5 5� 3 55 5! � 3 555 5 5� =G3
5 5 5 5 5 5 5 5 5 5 5 5! 55555

����
55 5 555 5 555 5 5 5! 5 5 5 55 5 5 55 5 5 55 5 555 5 5 55 5 5 5! 4 4

50G���
5�
=!5 5 5�5
�
= 5�5
�
=�5
�
=5� 5�5
�
= 5�5
� = 5�5

� 4 4 4 = 5
M 5M 5M B :5 5 5 B : 5 :5 : 5 5 5 B :5 5 5 B : BB

f

555!�
����

5� = G5�= 5�=
p

5� = 5�= 55!
�= 5�= 4 4 0 4 = 5M 5M 5M B : 4 �= 5 5 5 5 5 5�

Example 12.19, Haydn, Piano Sonata in E-flat, H. 49, first movement, 25–64 (continued)
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Example 12.19, Haydn, Piano Sonata in E-flat, H. 49, first movement, 25–64 (continued)
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